


- Semidefinite programming

MIN LGX> Llx, A. D= 4.x> - 41.x> - LV.AM-b)

s-e.DK/)=b = 4- d- ATM .x> + Lbw>

✗ 2%0
= {
to c-A- *Mto

<b.v7 C-A- Atm -0

M¥ <bit

St . C-A-Akiko

hasta

weak dually : if ✗ is primal feasible and Air are dual feasible
< GX> Hbv>

LGX>- <b.D= Lax> - LAW,D= 4- Atal ,X> = LAX > to

p*=gH* .vn
-

- THIN.HU/---.n.f-Lcxs-Lx*.xs-LAlH.v*>
c-¢,x*> -44,11*7 - <AHHH> (Atx) ,

V1 = Ev: A :*

£ pH = ( Fv:* x >

g. Strong duality of SDP may not hold

him 2^1" primal M.tn (19%111) Anto Hn -Hito
s-t ' [ I. Ii;] to → s.tl -1681×7=0 b. the primal optimal is 0 ( when A:o)

At

primal is not

µ ✗ 751+0

strictly feasible
M¥ b. v

s-t-%7a-r.tt :] ) -4%] 's:O-v to -V0 - in} duel is infeasible
✗ 75¥10

min xx primal
⇐ [¥fn]⇒:p

→
Min LEE] ,x >

a. 4911172
✗ 754×0

Kiln 11

the optimal value is 0 Max 2- V

"" " "" " ¥
s.e.p.gg#d-xj:-:towyit "

O- V to

but not attained

^"
the dual is not strictly feasible
pual optimal is 0

,
but attained



optimally condition 4,10=0
primal feasible : XYs¥i0 Alxtb

appt #dat
dual feasible : 117540

o-trlxxt-trlpptalett-trlptaatpt-LP-te.p.ie>
complementary slackness : XX -0

i. Pta -0

gradient vanishes : AHH -111=6 t.N-pptaat-poa.ro

- Barrier of Primal and Dual
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' Path - following Interior Point Method
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' Newton step
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- Path Following Method
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